simplex method

1-1
1-2




max z=20x, + 30x2\

st. X, +2X, £800
3%, +4x, £1800
3x + X, £1500

X, %30
/

1

max z=20x, +30x,

st. X +2X, +§ =800
3x, +4X, +5s, =1800
3% + X, + s, =1500

X1,%,5,S,,8 % 0

2
max z
st. X, + 2%, + S =800
3%, + 4x, +s, =1800
3+ X, + s, =1500
z- 20x, - 30X, =0

3
X1y X5,5,,S,,8; % 0



1-1

x1 X2 sl s2 s3
0 1 2 1 0 0 800
0 3 4 0 1 0 1800
0 3 1 0 0 1 1500
1] -20] -30 0 0 0 0
1-2
x1 X2 sl S2 s3
sl 0 1 2 1 0 0] 800
s2 0 3 4 0 1 ol 1800
s3 0 3 1 0 0 1 1500
Z 1| -20] -30 0 0 0 0
z2,51,52,53

max z
st. X+ 2%, +§ =800
3x + 4x, +'s, =1800
X+ X + s, =1500
z- 20x - 30x, =0
%,%,9,%,8° 0
z,51,s2,s3 x1,x2
0+ 20+ s =800
30+ 40 +'S, =1800
30+ 10 + s, =1500
z- 200- 300 =

(z,x1,x2,51,52,53)=(0,0,0,800,1800,1500)

(x1,x2)=(0,0)



3
Z
0
x1 X2 sl s2 s3
sl 0 1 2 1 0 0 800
S2 0 3 4 0 1 0 1800
s3 0 3 1 0 0 1 1500
y4 1] -20] -30 0 0 0 0
1 2

z =20x, + 30X,

z- 20x, - 30x, =0




3-1

(z

800
1800
1500

s3

0
1

s2

sl

X2

-30

x1

-20

sl
S2
s3

30

, X2

20

x1

X2



3-2

3- 3
x1 X2 sl s2 s3
sl 0 1 2 1 0 0 800 400
S2 0 3 4 0 1 0 1800 450
s3 0 3 1 0 0 1 1500 1500
z 1| -20] -30 0 0 0 0
X2 s1,52,s3
2
sl s2
s3 )




3-3 2

(1)
(2)
(1) 1
x| x2] sl] s2| s3
stf o o5 1 05 of o 400 ( ¥ 2
s2| o 3[ 4 o 1] 0 1800
s3 0 3 1 o o 1 1500
zl 1] -20[ -3 o o o 0
(2)
x1] x2| sl s2| s3
x| ol o5 3l o5 o 0 400
sl o 1 o 2 1 0 200 (2 ( x 4
s3____ 0 25 0 -05] o 1 1100 (3 ( x 1
zl 1 -5 O] 15 0] O] 12000 (4 ( x (-30)
2X2,82,83 x1sl 050+ x, +0.50 = 400
10 - 20+s =200
250  -050  +s5,=1500

z-50 - 150 =12000




12000

Z,X2,52,53

(z,x1,x2,s1,s2,53)=(12000,0,400,0,200,1100)
(x1,x2)=(0,400)

2
x1 X2 sl s2 s3
X2 0 05 1 0.5 0 0 400
s2 0 1 0 -2 1 0 200
s3 0 25 0] -0.5 0 1 1100
Z 1 -5 0 15 0 0 12000
1 3
3
3-1
x1 X2 sl 2 s3
X2 0 05 1 0.5 0 0 400
s2 0 1 0 -2 1 0 200
s3 0 25 0] -05 0 1 1100
Z 1 -5 0 15 0 0 12000
x1 5



3-2

x1 X2 sl s2 s3
X2 0 0.5 1 0.5 0 0 400 800
S2 0 1 0 -2 1 0 200 200
s3 0 25 0] -0.5 0 1 1100 440
Z 1 -5 0 15 0 0 12000
s2
3-3
1)
x1 X2 sl s2 s3
X2 0 0.5 1 0.5 0 0 400
S2 0 1 0 -2 1 0 200 (
s3 0 25 0] -0.5 0 1 1100
Z 1 -5 0 15 0 0 12000
(2)
x1 X2 sl s2 s3 |
X2 0 0 1 1.5 -05 0 300 (1
x1 0 1 0 -2 1 0 200
s3 0 0 0 45| -25 1 600 (3
Z 1 0 0 5 5 0 13000 4
z,X2,X1,s3 sl,s2

X

x 0.5

x 25

x (-5)

X, +1.50 - 0.50
- 20+ 10

=300
=200

- 450 - 250 + s,=600

+50+ 50

= 13000



z,Xx1,x2,s3

(z,x1,x2,s1,52,53)=(13000,200,300,0,0,600) .
(x1,x2)=(200,300) , 13000

2
x1 X2 sl s2 3
X2 0 0 1 1.5 -05 0 300
x1 0 1 0 -2 1 0 200
s3 0 0 0] 45| -25 1 600
Z 1 0 0 5 5 0 13000




1
W max z=3x +4Xx,

st. X, +2X, £6
X, +X £4
X, %X, 30

x1 X2 sl S2
x1 X2 sl S2
x1 X2 sl s2




(2)

max z=X, +4x, +6Xx,

st. X+ X +X, £2
X, +X; £1
X, X5, %33 0

x1 X2 X3 sl s2

x1 X2 X3 sl s2

x1 X2 X3 sl S2

x1 X2 X3 sl S2




(3)

(4)

min z=-3x - 5X,
st. X, +7X, £140
- 2%, - 4%, 3 -100
3%, +2x, £130
X, % 30

max z=6x, +8x, +10x,
st. X, +X +X, £20
3x, +4x, + 6%, £100
4x, +5x, +3x; £100

X, %, %3 2 0
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